Calcular Porcientos (I)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 6.438 € es
2.146 €7

. (Qué porciento de 7.692 € es
1.923 €7

. ¢Qué porciento de 3.960 € es
2.970 €7

. ¢Qué porciento de 6.935 € es
1.387 €7

. ¢Qué porciento de 830 € es
166 €7

. ¢Qué porciento de 9.600 € es

480 €?

. (Qué porciento de 272 € es

204 €7

. ¢Qué porciento de 5.220 € es

1.305 €?

. ¢Qué porciento de 6.055 € es

1.211 €7

. (Qué porciento de 3.291 € es

2.194 €7
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Calcular Porcientos (I) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 6.438 € es
2.146 €7
33%%

. (Qué porciento de 7.692 € es
1.923 €7
25%

. ¢Qué porciento de 3.960 € es
2.970 €7
75%

. ¢Qué porciento de 6.935 € es
1.387 €7
20%

. ¢Qué porciento de 830 € es
166 €7
20%

. ¢Qué porciento de 9.600 € es

480 €7
5%

. (Qué porciento de 272 € es

204 €7
75%

. ¢Qué porciento de 5.220 € es

1.305 €?
25%

. ¢Qué porciento de 6.055 € es

1.211 €7
20%

. (Qué porciento de 3.291 € es

2.194 €7
66%5%
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